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Q. No. 12 carries 6 marks 6x1 = 6
: Total = 40
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Q. No. 24 carries 6 marks 6x1= 6
Total = 40
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PART-A /%5

Define involuntary unem}ﬁloyment.
: 1

T—r\ PG} =
SRS RIS @ &

What is effective demand ?
1

Hiey vifzal &2

What do you understand by depreciation of capital ?
/ 1

GNP = GDP - - :
—._—ﬁ_ : (Fill in the blank)
: It
GNP = GDP - I ; =
(U7t 215 25 1)
What is foreign exchange market ?
1l

Which of the following transactions are included in the current

account of Balance of Payment ? 1

s

AR FEOR ST (217 HEFRS (PG (U SReE o

(@) TImport and Export of goods

e Sl e IS

(b) Import and Export of services
s S s S

o]

9. Write the differences between GDP at

(c) Unilateral transfer

GFARR TEITS

(d) All of the above

: GoEE AR

(Choose the correct option)

(®% TE0l Fife Cleredl)

market price and GDP at factor cost.

2

2ol &S GDP Wi T2 JES GDP-=S Hes onefey o2l |

OR/S241

Wirite one similarity and one difference between intermediate goods and

capital goods. fev =2
LS} T S R B 4O AT S 5! ALy TR
3.  What do you understand by ‘Paradox of Thrift" ? 2
Siege 7 TedeR AR IFE & 39
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OR /@2l

g What is investment multiplier ? If a new investment of Rs. 300 crore

*What is aggregate supply ? Explain. 5)
waEe e 2 g &9l | ; ‘ :ncreases National Income by Rs. 1200 crore, calculate the value of
| " investment multiplier. In this case, what will be the value of MPC ?
4. Write fwo differences between direct tax and indirect tax. 2 sl
oroPE <X TS AEE 99 WER 707 Ay BT R £ 2
B e e 07 A4 T o e e TfCE 300 (B T gA R TSt wiE 1200 1 5
3% T, (ors RiNmel @I T A9 F G3rEae, MPC- i & 292
5. What are the components of high-powered money ? 5
S ETorTE YUk SR 2 OR /@121
OR /%141 : . : Briefly discuss the components of aggregate demand. 4
Define Bank Rate and Cash Reserve Ratio. : 147=0 FEE Sifens THAMFER AT SCEdAl F9
@E TR S Fow AT SAOS Figea ol | . _ : .
9. Wtite differences between the following concepts : (any two) 2+2=4
6. Write fwo differences between Balance of Payment and Balance of Trade. ;
' e gRaPEs wes ALy & o (@ 7o19)
2 ‘

SIRTIE TS TS zifieyR ANOR AER 751 2l e | (i) - Autonomous investment and Induced investment.

wow EREN WS Sfecere [

7.  Write i i > f fixed exchange rate o
rite in brief the ideas o ge rate and flexible exchange rate.

2 (i) Ex-ante consumption and Ex-post consumption.

R R s i ARSI [T 293 a2 701 b o eSS Terels S TS Torei |

32T ECON [4]
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(111)

(iv)

10. Discuss four main functions of Central Bank.

Marginal propensity to consume and Marginal propensity to save.

o ToTel el SI% eifEs e 2Eel |

Marginal propensity to consume and Average propensity to consume.

st THATTIT g99T TR A TACS AAG9] |

@ (@S bR 4R T Sl 9

Explain how commercial banks create credit. 4

OR /41

TS @ @EME A e TR IR

11. Discuss the components of Government Budget.

PGSl AT AN SEval $ |

32T ECON

[6]

| OR/@I33]
Define the following : wal 1+1+1+1=4

wore. fraPTrE K@ e ¢ \

\ ‘ (i)  Fiscal Deficit
@\-‘?Cﬁ‘-lﬁﬂ o
| (i) Primary Deficit

a2

(i) Planned government expenditure

siZshEe sael T

{ (iv) Non-planned government expenditure.

sifReEm-AEge ISl IR |

12. Explain how GDP is calculated using Income method. 6

oY AFT FUTS (M GDP Al T =, W 41
OR /SN

Discuss the reasons why GDP can't be used as an index of country’s welfare.

6
GDP 3 (7} << F01% 5 Fest TS IR (FIGIIS SINPTAR STl 1|

32T ECON | AR Contd.



PART-B / 4-51¥

13. (i) Define sustainab‘lle development. 1
T TR kel Bl

(ii) During British rule, decay of Indian handicrafts was caused by —

1

R5x «[FTe SIFed TEMHEE AT e SifeET —
(a) Discriminatory tariff policy of the British Government
() Competition from machine-made products

- 7R oE TEAE (R[ el

(c) Change in patterns of demand

sifais w=eg sifkaes

(@ All of the above

ST HECTIEIE

(Choose the correct option)

(w5 TEI0! R Tfeyedy)
(iii) In which year the NITI Aayog was formed ? 1

&% (NITI) SICa0 G 5 o7 41 02281 2

32T ECON [8]

(iv) What is the difference between ‘Labour Force” and “Work Force’ ?
1

wWeife” o TGS Nem AL (2

(v) Mention one similarity of the economic policies adopted by India and

Pakistan. 1

RS W% AR a2 = WA ET T 95y A SrE 44|

(vi) The ‘Great Leap Forward’ campaign in China focused on —

[

- BIe STEte IR TG (Great Leap Forward) Slediag 33 @59
Wiz —
(@) Privatisation

feaiesd

(b) Widespread industrialisation

ToaIeSeN FARd

(c) Development of services sector

G|l Aeg [

(d) Economic reform

wtafos A
' (Choose the correct option)

(%% Cach) AR ©fsd)

32T ECON . s [9] Contd.




14.

32T ECON

3

Mention two major industrial sector reforms in the Indian economy under

S, E
the policy of liberalisation. |

SR TS SRR SiRoR SIIes Tomiel AeT oF T 70 @ AR
Tmd

OR /<1341

Write about fwo positive effects of LPG policies in the Indian economy.
rite -

2

SRS wefoe LPG Tifeq gﬁf&zﬂmﬁimﬁﬁﬂtﬂﬁwl

Write fwo merits of GST.

GST-= 76! Afa i

OR /=241

What is demonetisation ? Mention ofe pos
‘the Indian economy.
ﬁ:ﬁ?ﬁq B TR TEAIeS KT Gl GISRE ASR S 359 |

[10]

itive effect of demonetisation in

2

16. What is structural composition of an economy ? As on 2021, which sector

contributed highest to the GDP of India ? 7 1+1=2

Ty
| B

ST efefes WA e 2021 5H© (SIACGT 492 @ISO GDP G FKiks

Iefd @2
OR /<724

Wrrite fwo characteristics of small-scale industries. 2

Y SONSE 7ol (@ &Rl

17. Write two differences between econofnic infrastructure and social
infrastructure. . | D
AT SR s AR SRR 70 #19y Frsi

OR /%<7
Write about two problénﬁs faced by the power sector in India. 2
TiTes *fE 16T TN @ Eﬁfﬁﬂ‘ﬁﬂa I &
32T ECON ‘ [11] Contd.




18. * Write any two measures undertaken by the Government of India to

improve agricultural marketing. )
T F98 TS SaEE @ OISO bITIE AL == Al 7o sveEA Bl
OR /=41
2 ‘

What do you understand by diversification of agriculture ?

i hwe I T

19. What are the three main approaches undertaken by Government of India

to alleviate pbverty 2

el TRRREE A e sediTd 4 g Ae for! K e

it

OR VALl

Write a short note on MGNREGA.

MGNREGA-3 et o3 a5t (Gt ol |

32T ECON [12]

20. Discuss the goals of planning in India. 4

TIREIS ARTHEAE SO, S 7= |
OR /5241

Briefly discuss fwo positive and fwo negative impacts of Green Revolution.

2+2=4

o R2RE bl SI9F W% 70 SR 2eidd KA s S 1 |

21. Write a comparative note on the demographic indicators for India, China

and Pakistan. 4 S

iR s Foenms ftfes ks, B ws AilTens ot gemEs

OR /91
(i) Write fwo reasons for rapid economic development in China. 2

Sire we wtfes R 751 TR GRI

32T ECON - (1G] Contd




(ii) Write two reasons for slow economic growth in Pakistan. 2 24. What is oi'ganic farming ? Discuss its merits and demerits. 1456
i Wze Ses JEs 7o SR | | taRke TR 2 30T AR S SRR S 9
g -_ \ OR /g2
22, Write about different types of unemployment. ) 4

What is Human Capital ? Discuss the sources of human capital formation
ey Rifen e R @il P .
1+5=6

233 is economic growth, a cause of environmental degradation ? Justify your

TE T 52 WA e 5079 SR Wb 5 |

4

answer.

e S AR FS (ERIE 9ol I @2 (ST Tess ATE Ifegeel

X
SFICOIR |
OR /%1241 |
(i) Write fwo causes of global warming. - ' | 5

G Tweet e 7o el Ell

(i) Suggest fwo measures for attaining sustainable development in India.

2

s <R SE A% I 75T AR SRR
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